Unit 5 — Quadratics — Practice 1
©-ndard Form: f(X) =ax*+bx+c¢
1. f{x) = 4x* + 8x -1

Standard Form: 4% L %x -t
a= L\ b= ¥ c= wl |

Does it open up or down? U (f’
intercept:  ( O, ) >
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4, f(x)=x"—8x+7
a=_|_b="% c=1
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2. fix}=4x+x* -3
Standard Form: \7( 4" K~ Y
a= b= Z“’ c= -3

Does it open up or down? /{
y-intercept:  { O T
Vertex:
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5. f()x)=-2x*—-8x—-8
,-;|=-Z~ bzwg.— C=“g

Does it open up or downzcl vy

y-intercept: O,-% \)
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3. f{x) =5-2x-x*

Standard Form: — X Clow S
= - l b: -“2 L= S

Does it open up or down?y- A@L.{){‘i
yintercept: ( O, S )
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6. fix)=~x"—2x+5
a="_ i b:“"“l c= S

Does it open up or down?y- C{GL,-GV)
y-intercept: Q = >

Vertex: X = -
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